[[normalized x? probability ]

0.25)
+ [Enties
+_ | Mean 0.2
Std Dev
: Entries : : : : Entries
_| mean . 0.15F- - M

Std Dev

Std Dev.

0.1
+ [Enties .
. Mean 7 .
- |Lstd pev 7 0.05f- -t
o <0
8
1
nHi i
ol IS MR R L
0 2 4 6 8 10 12 14 16 18 20 Et)0102030405060708091
X2 Prob(x?)

=== DQM _CRFF1T_TO00eVT

s DQM_CKFREFit_1000evt

s DQM_MKFitREFi_1000evt

e DQM_TESTOLHIT_1000evt

e DQM_TESTOLHIT_1000evt-50000t

A 5p = S
5 F S 5 :
c A ir - 1!
x & : 1
v a" ; + i
° i :
v ]
4
i
ie] ie] ! i
T I ] i - .
14 @ i i
o0.5F i1 -
G2 10 2 3
TP n (PCA to beamline)
A N
B k<]
c c
~ N
> >
\% \%
iel 2
I T
14 @
107 1072 107t
AR(track, ]ets)
g
A
=
[=%
-
o
<o
Vv

Ratio




	Contents
	Page 1


